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SEFERHE RHCEK D

AR BB AT ERT (BN/RBOV) |7 LAt (178) SR BIRRA IT ??@17%35‘%%{%%35%
1 AT ELIF (X 1) DEHB BV HIERE 19 5 Fi =g 7004 AKLEE X BB (10%) A
2 PFL&ITFE LR (X 2) DEHLWHEE 19 53 H =40 3004  AKLAE X B (10%) H
3 AT E2F (X 3) DEHB LW HIERE 19 5 Fih =g 5004 KA TR (10%) A
4 |PEITFE3F (MiE4) OEHLWHIEE 19 53 H =40 3004 AKLAEX MBI (10%) 4
5 HFETE LR (ME5) DLERBWTINE2 3 7 F B 1,0004|  AKLAE X BB (10%) A
6 ARETELIF (X 6) DB BTN 2 3 7 F = 3004 AKLAEX B (10%) 4
7 BRFETEHELIF (K 7) ONEBBWHTINGE 2 3 7 F il =248 20074 kL% 11
8 |HEZRATELIF (M@ S8) OLERDVHIEE 1 9 5 il =40 5004  AKLAE X B (10%) &
9 HEZARRTELIF (WE9) OLUFEHDWTEM 19 5 H B4t 20045 kL 4
10 HHWERET A (KME10) OLEFEBLWHIERE LT -1 -3 =24 40074 AALzE 1
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